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SUMMATIVE ASSESSMENT - II, 2013 ODVEOSH

HETT - IX/ Class - IX
AT A / Social Science

Time: 3 Hours Maximum Marks: 90

weT e

(i) 39 9ot a7 3 e 30 weeA F| WAF weA HfAA

(il) %7 FAIEH 1 § 9 TF Fgladhody WA & Tedd W 1 3 # gl

(ili) I2T AR 10 | 20 T TeAd U 3 3HF & g1 59 ¥ TeAF e & 3ca} 80 el ¥ oS A gl Ao
(iv) TeeT i 21 & 29 T Tedd YR 5 3 H & I ¥ Yedd U H 3eeR 120 weat ¥ HiUw A Qe v
(v) WeeT TR 30 Pael SES § AR FFawHl 3 3iF H YT §] A@RT W Iec} [A@eT & a1g $HHR 30H Jeaw

qReTaT & e W@ F Ay A

General Instructions

(i) The question paper has 30 questions in all. All questions are compulsory.

(i) Questions from serial number 1 to 9 are Multiple Choice Questions. Each question carries 1 mark.

(iii) Questions from serial number 10 to 20 are 3 marks questions. Answer of these questions should not exceed 80 words
each.

(iv) Questions from serial number 21 to 29 are 5 marks questions. Answer of these questions should not exceed 120
words each.

(v) Question number 30 is a map question of 3 marks from Geography only. After completion, attach the map inside your
answer book.

11 In which year was South Africa excluded from international cricket ? 1
(@) 1965 ® 198 (© 1970
@ 1971.
afequr TR 1 ST firdhe @ fom o afespa o o an?
(@) 1965 (b) 1968 (©) 1970
(@ 1971
39an/oOR
12 In which century were the ideals of beauty and style of clothing 1
transformed ?
(a) Sixteenth (b) Nineteenth
(c) Seventeenth (d) Eighteenth
aftedl =1 g ov I F s § vited e R A e
(@) R (b)) S (c) wEEl (@) SErEl
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According to Cricket Laws, of 1744, what was the length of the cricket
itch ?

(a) .20 yards (b) 21lyards (¢) 22yards (d) 23 yards

1744 3 97 Tz ¥ Trgnl ¥ o7 ez e 971 we) et 3 4 7
(@) 2074 ) 217 (© 27 (237

34ar/OR
The parsi style of wearing sari was called :
(a) Parsisari (b)  Brahmos sari
(c) Brahmika sari (d) Non - Brahmos sari
(a) TREER (b) wEE AR
© FEFE @ =ER Rl

Which one of the following categories of rainfall is suitable for Cinchona
trees ?

(a) More than 200 cm (b) 70cm

(© 50em (d) Less than 50 cm
a9 F Fefater o § FR-w s e ¥ g sogsm 27
(@) 2003F F = (b) 70/

(© 503 d) 503dA. FFTaw

Which one of the following Fundamental Rights makes the other
Fundamental Rights more effective ?
(@) Right to Freedom
(b)  Right to Equality
(c) Right against Exploitation
(d) Right to constitutional Remedies
Freafefes § @ - dfvs sfuer o= dies afesd =1 gue m e
(a) T SHER (b) TEEEF SEFR
(©) ¥muF g sfuwR (d) wduls IR F SEFER

If anyone violates our Fundamental Rights, we can directly approach the :
(a) Prime Minister of India (b) The President of India

(¢) TheSupreme courtof India (d) The Vice -President of India
ST TR TR AE SFER] F Ieeior F41 T A, T @S Preataten 9

HEF T W ¥

(@) ¥RT FRYE T (b)  TE F AN
(¢) ¥RA F 9= FEEE (d) RE FHTRZUH
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[image: image3.jpg]Which one of the following statements does not hold true regarding

citizen's rights in SudiArabia ?

(a) The people have no role in changing their ruler.

(b) The citizens can form political parties.

(c) People dont enjoy the freedom of religion.

(d) The testimony of one man is considered equal to that two women
Freferfad & @ e Fe, Tedt 3 % i SR AT 7
(a) ARE TG H AT T FEYHR T |

(b) AT T & a1 TR |

(c) Il Rt TR £ |

(d) R TEW WA, 3 Wieelsi WA o e |

Which of the following organisation estimate the poverty line in India ?
(a) Indian statistical Institute

(b) National sample survey organisation

(c)  Ministry of human resource and development

(d) National Human Rights commission

9 F e X s Pretalen § #F W YT w1 e

(@) RET wiewa gwA

(b) T FRREE e T

(¢) TFE HuET o w1
(d) W AFSTEFR SFTEA

Which one of the following strategies was adopted to secure self-

sufficiency in agriculture?

(a) Green Revolution (b) Operation Flood

(c) Public Distribution System  (d)  National Food for Work
Programme.

F § e Fdf iR ¥ Ty retafas wrERE d @ 5FR #1 swe Ty

(@) TEFA ) FE T

(¢) SE=TTF R yomdt (d) FHEF I FAW F I FEFT
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[image: image4.jpg]Antyodaya ration cards are meant for which of the following groups ?
(a) The poorest among the BPL families

(b) Those living above the poverty line

(c) The poorest of the poors

(d) Every body below the poverty line.

SR T FE, FreAteren § J fra o % ey

(@ =T oierl § 99 F fade aier F el

(b) e W I F R

(@ T gl s

@ e ¥ AR s |

101 Why did the colonial government start commercial forestry in India? Give 3x1=3
any three reasons.
PR T I uRe § = ey w7 =R 16 FR0

fafag |

34ar/OR

102 Who are Raikas? Describe their lifestyle and activities. 142=3
wEERE 7 o A T A ) F1avE Hig |

3r9ai/oOR

193 How were the Indian farmers persuaded to grow opium ? 2

e FeraT &1 ST 1 o fe S v T

1.1 Which three factors are responsible for the commercialised action of the 3x1=3
game of cricket 7
Tz 39 > TiveET ¥ g -8 @R ERE SweE €7

3yar/OR

1.2 Who introduced Brahmika Style of sari ? How was the sari worn under 3
this style ? ¥
S SR E1 W R R A W 7 [ R F 9 F R T

TEAT SR ;Y

12 What are monsoons ? Explain the phenomena responsible for the 1+2=3

occurrence of monsoons.
o T ¥ 7 AR St ¥ fog e et (SR F A FL
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14

15

16

17

18

19

feafrfian witie vmai #t saren Hifg :
()  Siftenfod a

® W

(0 AT

Explain the following terms :

(a) Coriolis force

(b) Jet stream

() Monsoon

e & gHgE 1O g S o v s g e i wad d e

A el 1 79 F Fo1 w1 A9 ST Wied e H

“The Monsoon is considered a unifying bond in India. What moral values
you could inculcate from this statement ? Explain with three examples.

‘What is meant by the independence of judiciary in India ? Explain.
uRE F s %1 W § 39 STwE ¥ 7 e FI

Differentiate between political and permanent executive. Mention any one
function of each.
T T4 Wl FEaeE § S W S| TS F T #5596 ey ?

Explain any three powers of the President of India.

9RE ¥ g F TR A il F1 e Fia)

Describe the poverty trends in India since 1973.
uRe ¥ 1973 T THedT =1 il FavH Fe

Describe any three provisions of National Rural Employment Guarantee Act
2005.
e ] TR TE SfufEe 2005 F AT 919 wEuw F1avE Fag)
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211

21.2

213

221

222

223

What is the Millenium Development Goal of United Nations in the area of
poverty reduction? Name the areas of the world where poverty ratio has
declined.

T8 %1 w3 F Reen F Hgen T 3w SN ek R wea wnd?
T % 39 861 71 T T =t frem arqum g

Describe the similarities between the colonial management of forests in
India and Java.
T SR SR o F SrEhE wed % s v S

HYAn/OR

How did the life of pastoralists change dramatically during the colonial
period ? Explain any five changes.
SR A ¥ IRA SRR T § e R F TR a5 ey

= o SeEl =7 swen Fit

3Yyai/OR

How did the ‘enclosure movement’ start in England ? Write any three
advantages of enclosures?
Fie A TR SR RN YR IR g7 IRER SR ¥ A

st = e

How did the lives of forest dwellers change after the forest department
took over control of the forests ? Explain any five points.
o T SR o W P Wit F F 9R el 1 e 3 e TR

¥ wiEdd s ? B o st F e FiR

34ar/OR

Explain any five factors which were kept in the mind of pastoral groups
before their movements.
=RAR TEEA ¥ O 5 A s wwd 47 T ot 9 = s wew

3Yai/OR

Enclosures filled the pockets of landlords, but what happened to the life of

poor ? Explain.
FIgEl 3 ) w1 a1 vy WEF e w s = e

17 SRS F I |

2+1=3

5x1=5

1+4=5

5x1=5
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‘What was the concept on which the Péntangular tournament was based ?
For how

long did it continue ? Why did Mahatma Gandhi condemn it ? What
replaced it

later ?

" FETER A1 WEE I A 1 A B STEROn W SERE #6798 3
T T T ? T A I 39 g = # P IR Y 9 T F WA W

39ar/OR

What were the major changes in the clothing pattern which occurred in
Europe from the seventeenth century to the twentieth century ?
oA W51 ® F9a 951 F 99 0 F IRTE I § a9 e 959E 7

What is meant by migration? How is migration a determinant factor of
population change?
AT 1 AT 7 uar R TR AT w1 U (e w2

Mention any five problems faced by adolescents in India.
9rE § el g wme e s @ el df weensdl = s w e

Explain the significance of Parliament in a democratic country
TF AEAGE 39§ 6T F 95l F1 SR # g |

Why do we need rights in a democracy ? Give five reasons.
s § sfuwRl 1 5 S ¥ 7 e TRy Sl

What is food security ? What are three dimensions of food security ?
T W R 7 I G F A SEm fefanl

Mention the problems faced in the fux\ctlomng of the ration shops.
/A F ECaRl =] FEE F FHE 6‘7 o 1 IR F 71\

Page 7 of 9

1+1+241=
5

1+4=5

5x1=5

243=5

5X1=5




[image: image8.jpg](a) Two items A and B are shown in the given political outline map of India. Identify these
items with the help of following information and write their correct names on the lines marked on
the map.

(A) Type of forests

(B) A Meteorological Station

(b) On the same political outline map of India, locate and label the following with
appropriate symbol

©) Rajaji National Park

Note: The following questions are for the visually impaired candidates only in
lieu of Q.No.30
(30.1) Which type of vegetation is found in Uttarakhand?
(30.2) In which state is Rajaji National Park located?
(30.3) Name the state having highest density of population.
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(A) = T OTER

(B) W fRH W
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(30.1) SWRETE § fFY WER F1 FAed U S £7

(30.2) TSN UL AN fEE w9 s@fer §7

(30.3) WY AfF FAHEN F e A6l WA F A e
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